
  



Q. 32, 58, 92, 134, ? 

(1)  184 

(2)  194 

(3)  156  

(4)  169  

  



Q. If BROAD means 19812, CLOCK means 

(1)  68262 

(2)  68622 

(3)  26826 

(4)  37836 

  



Q. If MOON is coded as -2, STAR will be coded as  

(1)  -2 

(2)  2 

(3)  3 

(4)  -3 

  



Q. If FADE is coded as 3854 then how can GAGE be 

coded? 

(1)  1824 

(2)  2834 

(3)  2824  

(4)  2814 

  



Q. If FEED is written as 4556, then FLOUR is written 

as 

(1)  182115126 

(2)  133213423  

(3)  142323412 

(4)  234231212 

  



Q. If in a code language 3456 = ROPE and 15526 = 

APPLE then 54613 = ? 

(1)  RPPEO 

(2)  ROPEA 

(3)  POEAR 

(4)  PAREO  

  



Q. If REDUCE = 56, RECYCLE = 71 then REUSE = ? 

(1)  65 

(2)  68  

(3)  69  

(4)  70  

  



Q. Which one of the given responses would be a 

meaningful order of the following? 

1. Weaving  

2.  Cotton  

3.  Cloth 

4.  Thread  

(1)  2, 4, 1, 3 

(2)  2, 4, 3, 1 

(3)  4, 2, 1, 3 

(4)  3, 1, 4, 2 

  



Q. Which one of the given responses would be a 

meaningful order of the following? 

(a)    Substance 

(b) Atom  

(c)    Molecule  

(d) Proton 

(1)  (d), (b), (c), (a) 

(2)  (a), (b), (c), (d) 

(3)  (b), (c), (d), (a) 

(4)  (d), (c), (b), (a)  



 Q. Which one of the following responses would be a 

meaningful order of the following? 

1. Chapter 

2. Index 

3. Bibliography  

4.  Introduction  

5.  Preface  

(1)  2, 4, 1, 3, 5 

(2)  4, 2, 5, 1, 3 

(3)  5, 2, 4, 1, 3 

(4)  5, 1, 4, 3, 2 



Q. Which will appear fourth in the dictionary? 

(1) Minority  

(2)  Mistake  

(3)  Mission  

(4)  Miracle  

  



Directions : In each of the following questions, a 

series is given, with one term missing. Choose the 

correct alternative from the given ones that will 

complete the series. 

Q. 2, 5, 9, 19, 37, ? 

(1)  73 

(2)  75 

(3)  76 

(4)  78  

  



Q. 0, ?, 8, 15, 24 

(1)  1 

(2)  3 

(3)  5  

(4)  2 

  



Q. 3, 5, ?, 63, 99, 143 

(1)  27 

(2)  45  

(3)  35  

(4)  56  

  



Q. 3, 28, 4, 65, 5, 126, 6, ? 

(1)  215 

(2)  216  

(3)  217  

(4)  218  

  



Q. Six members of a family namely A, B, C, D, E and F 

are travelling together. ‘B’ is the son of C but C is not 

the mother of B. A and C are married couple. E is the 

brother of C. D is the daughter of A. F is the brother 

of B. How many male members are there in the 

family? 

(1)  3 

(2)  2 

(3)  4 

(4)  1 

  



Q. A’s mother is sister of B and has a daughter C. 

How can A be related to B from among the following 

? 

(1)  Niece 

(2)  Uncle  

(3)  Daughter 

(4)  Father  

  



Q. A and B are married couple. X and Y are brothers. 

X is the brother of A. How is Y related to B? 

(1)  Brother-in-law 

(2)  Brother 

(3)  Son-in-law 

(4)  Cousin  

  



Q. A man ‘P’ goes to a party hosted by his brother ‘Q’ 

who has a daughter M. M is dancing with her brother 

‘N’. How is ‘P’ related to ‘N’? 

(1)  Nephew 

(2)  Father 

(3)  Uncle  

(4)  Cousin  

  



Directions: Read the following information carefully and answer the 

question based on it. 

There is a family of six persons P, Q, R, S, T and U. They are lawyer, 

Doctor, Teacher, Salesman, Engineer and manager. There are two 

married couples in the family. S, the salesman is married to the lady 

teacher. The doctor is married to the lawyer. U, the manager, is the 

son of Q and brother of T. R, the lawyer, is the daughter-in-law of P. T 

is the unmarried engineer. P is the grandmother of U. 

Q. Which of the following is one of the married couples? 

(1) T and R 

(2) P and S 

(3) S and Q 

(4) T and P  

  



Q. What is the profession of P? 

(1)  Lawyer 

(2)  Engineer  

(3)  Doctor  

(4)  Teacher  



Directions: Find the odd word pair from the given 

responses. 

Q. Which of the following word pair is not related in 

the same way as ‘RETURNABLE’ and ‘NATURAL’? 

(1) RECIPROCAL and ORACLE 

(2) RECONSTRUCT and COUNTER  

(3) DEPARTMENT and MODERATE 

(4) EVALUATION and VIOLENT  

  



(1)  Crime-blame  

(2)  Short-long  

(3)  Poor-rich  

(4)  Light-heavy  

  



(1)  Plan-flower  

(2)  Chair-sofa 

(3)  Face-eye 

(4)  Tree-stem 

  



(1)  Kennel  

(2)  Stable 

(3)  Lock  

(4)  Den  

  



(1)  Telephone 

(2)  Tape-Recorder 

(3)  Transistor 

(4)  Telescope  

  



(1)  Glue 

(2)  Oil  

(3)  Paste  

(4)  Cement  

  



(1)  Paper : Pencil  

(2)  Head : Cap  

(3)  Ink : Inkpot 

(4)  Present : Wrapper  

  



(1)  Sky – stars 

(2)  Moon – Plants  

(3)  Stadium – Players 

(4)  University – Students 

  



(1)  Trop  

(2)  Group  

(3)  Mob 

(4)  Class  

  



(1)  Tomato 

(2)  Potato  

(3)  Carrot  

(4)  Onion  

  



(1)  Liver 

(2)  Lungs  

(3)  Kidney  

(4)  Ear  

  



(1)  Terrylene  

(2)  Nylon  

(3)  Cotton  

(4)  Polyester    

  



Q. In a code language 123 means. ‘hot filtered 

coffee’, 356 means ‘very hot day’, 589 means ‘day 

and night’. Which numerical stands for ‘very’? 

(1)  5 

(2)  6 

(3)  8 

(4)  9  

  



Q. If CLOCK is coded as 34235 and TIME as 8679, 

what will be the code for MOLEK? 

(1)  62495 

(2)  62945 

(3)  72495 

(4)  72945  

  



 


